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(For the candidates admitted from 2008-2009 onwards)

B.Com./B.Com. (CA)/B.Com. (CS) DEGREE
EXAMINATION, APRIL/MAY 2018.

Third Semester
BUSINESS STATISTICAL METHODS
Time : Three hours Maximum : 75 marks
SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

All questions carry equal marks.

1 Define classification.
cuanaLIL[HSSIS0 LD euenruwim).
2 Define median.

uangwm : GenLHlene jeray.

3.  Find the range for the following data :
10, 20, 30, 40, 50.
Epangnd eNLThsEHsE 6358 sarmH iy
10, 20, 30, 40, 50.

10.

Write down the formula for Karl Pearson’s
co-efficient of skewness.

emre Gwrsafler Cam_ L &0851p GsHrsms 6(Wais.
What is negative correlation?
erélioenm QL (Hne eTemmed eresa?

Write down the formula for two regression
equations.

Qm Qsriyl Curse sweaunhseier @&sHrsms
T(PEIS.

Define Paasche’s index number of prices.
ureadl @BluI® erenr LpM eT(LEIS.

Write any two limitations of Index numbers.

GOULQLermaelen Qren® Senwamar 6r(s)s.

Define Time series.

sre Qg euflensulenar euenywigy.

Write down the types of secular trend.

Blepags CLnGSl 6 cuanEsmaT 6T(L)g!s.
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SECTION B — (6 x 5 = 25 marks)
Answer ALL the questions.
All questions carry equal marks.

11. (a) Calculate Arithmetic mean from the
following :

s - B g d B8 T, BEG L 10
f: 21 30 28 40 26 34 40 9 15 57
Eparamib eNuThsEns@ () srrafl srars.
il 23 4 5 06N E 2 10
f: 21 80 28 40 26 24 40 9 15 BT

Or

(b) Calculate Geometric mean from the
following :

b0 72 b4 82 93
Spsramid LIS ERsE@ QLhES syref srams.
SOMT2 NS4S SO0 3

12. (a) Find the quartile deviation from the

following :
x: 30-32 32-34 34-36 36-38 38-40 40-42 42-44
1 12 18 16 14 12 8 6
Sparanid NUTEIGERES sroLrear elwsssmss
STCHTS.

x: 30-32 32-34 34-36 36-38 38-40 40-42 42-44
ik 12 18 16 14 12 8 6
Or
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(b)

13N (5)

(b)

Calculate Standard deviation from the
following :

x: 10 20 30 40 50 60
f:8 12 20 10 7 3

pargmid  urasErsE Sl dosssmss

STGHTS.

x: 10 20 30 40 50 60
£e08 12 20 19 S0 2

Explain the types of correlation.

@ (Hmey cuansseneril LDH edlarses.

Or

Calculate Spearman’s rank correlation for
the following data :

x> 85 60 73 40 90
y: 93 75 65 50 80

1966 (mid ursdng v AwirGroest est
srelesstspameus samsd (Hs.
x: 8 60 73 40 90
y: 93 75 65 50 80
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14. (a) Construct an index number for 2006 taking
2005 as base.

Commodity Price in 2005 Price in 2006

90 95
B 40 60
C 90 110
D 30 35

Spasrand  sredalmbg 2005  yamenL
sigtiuerwnl  ahgg, 2006-Gsmar @

GO crefmenamT &TeHrs.

Qum@er 2005 & ellener 2006 & adlenev

A 90 95

B 40 60

C 90 110

D 30 35
Or

(b) Write any five limitations of Index numbers.
GASLH eranseller geTeug BB G@DEMET
T(PEIS.
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15. (a) Fit a trend line by the method of semi
averages.

Year: 2002 2003 2004 2005 2006 2007
Sales: 60 75 81 110 ~ 106 120

urdl ggmefl pevperw LwetL(GSE @m Curés
CarlenL QuTHSS)s.

QU(HLLD : 2002 2003 2004 2005 2006 2007
puewer: 60 75 81 110 106 120

Or

(b) Explain the steps of methods of simple
averages.

ereflw gymaf wpappulled 2 arer Lilg Hanar 6ll6mé:@s.
SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

All questions carry equal marks.

16. Calculate median and mode from the following
data :

x: 05 5-10 10-15 15-20 20-25
i 29 195 241 117 52
x: 25-30 30-35 35-40 40-45

ik 10 6 3 2
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18.

Wemeumpd  eleursdnE Qe fleve wLHOL  WP&EH
STGHTS.

x: 05 510 10-15 15-20 20-25
f: 29 195 241 - 117 52
x: 25-30 30-35 35-40 40-45
f: 10 6 3 2

Calculate mean deviation from the following data :
a2 AT GEE SRR ()

FOT 4 Beat

Epsramibd leurhisenés symef elwssid sar@idy.
x: 2 4 6 8 10
Fiolodi6 48

Calculate Karl Pearson’s co-efficient correlation
from the following :

X: 2 4 6 8 10

Y: 12 14 16 18 20
Sparapid eleurhisErsE smie Gwiseflar e Gney
Qapeneu saT(HLlg. ,

X 2.4 6 '8 19

Y: 12 14 16 18 20
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19. Construct price index number by using the
methods (a) Laspeyre’s (b) Paasche’s and
(c) Fisher’s.

Item Price Quantity
Base Current Base <Current
X 3 3.25 10 8
Y 15 20 20 15
Z 25 28 2 3

GameumauamaupdpE (1) emaspwi (<) ured
(&) Yegiev wennuier allener @HUSL QL awr Sienioés.

Quimm cllenev 3676
‘ Slguuel BLUY  Sligluenl.  pL iy
X 3 3.25 10 8
3 15 20 20 15
Z 25 23 2 3

20. Fit a straightline trend by the method of least
square to the following data :

Year: 2001 2002 2003 2004 2005 2006 2007
Profit: 300 700 600 800 900 700 1000
Yemeumd  efeurmsEnss
Qum@pssorer CriGsnd) euanys.
e : 2001 2002 2003 2004 2005 2006 2007
QMU : 300 700 600 800 900 700 1000

B&Smeuissipampuile
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